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Homework

Worksheet on derivatives of trigonometric functions
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The following questions are for educational (or entertainment) purposes.  


Use these questions as you feel necessary.
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Average Rate of Change

The graph above shows the total production of suits by Raggs Ltd. during one
morning of work. Industrial psychologists have found curves like this typical of the
production of factory workers.
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L. What was the hour-by-hour production for the morning?

[ Time 8-9 9-10 10-11 11-12
#suiTs}

2. What was the average hourly production from 10AM to 12NOON?

What is the slope of the segment RT?

3. What was the average number of suits produced per hour from 8AM to 12
NOON?.. s

What is the slope of PT?

4. What conjecture can you make about the average production and the slopes of
the secants?
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